MOLE WORKSHEET #2

Part A:

1. Calculate the number of moles in the following.

a) 18.0 g of H2SO4


b) 53.3 g of Carbon

c) 1.23 x 10 –2 g of CoCl2

d) 2955 g of Ag

2. What is the mass of 6.5 moles of copper atoms ?

3. Calculate the mass of the following:

a) 1.2 mole of copper I chloride

b) 0.0203 mole of iron II sulphate

b) 1.07 x 10 –3 mole of nitrogen

c) 3.08 x 10 –2 mole of zinc chloride

Part B:

Remember to show all the steps.

Show correct Significant figures and Units in your final answer.

E.g. How many molecules are there in 0.125 mol of molecules?

# molecules = 0.125 mol
x
6.02 x 10 23 molecules






--------------------------------
=  7.53 x 10 22 molecules






1 mole

1. How many moles of N are there in 5.00 x 10 17 atoms?

2. A light source emits 8.50 x 10 17 photons per second.  ( A little physics interlude:  a photon is a “particle of light”.)  How many moles of photons are emitted by the light source in one minute?

3. A type of carbon has a mass of 2.16 x 10 –23 g/atom.  What is the mass of a mole of this variety of carbon atom?  (Think!!!)

 4. How many molecules are there in 4.3 moles of calcium sulphate ?

5. How many moles are there in 3.00 x 10 9 atoms of He?

6. A chemist isolated a small sample of copper II nitrate.  How many moles are there in 3.02 x 10 24 molecules of Cu(NO3)2?

7. How many atoms of Oxygen are present in the sample isolated by the chemist in question 6? 

4. What is the atomic mass of element XX  if 3.6 moles of the substance has a mass of 192 grams ?

5. What is the mass of 0.063 x 10-4 moles of aluminum sulphate ?

6. What is the number of moles in 6.6 grams of silicon tetrachloride ?

